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FREE T4  = TOTAL T4   X  % FREE 
 
 
 
 
FREE T4 INDEX = TOTAL T4 X THBR 
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                                % Uptake = counts on resin/total total counts added X 100
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Thyroid 
Binding  Normal  Normal  Normal  Low   High 
Proteins 
 
 
 
 
   
T4 Binding        
Sites  
 
 
 
 
Total T4              Normal      High    Low  Low   High 
 
     X 
 
T3 RU                 Normal                 High    Low  High           Low 
 
 
Free T4               Normal                  High                 Low                Normal       Normal 
Index 
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